Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGG.- V" SEMESTER-EXAMINATION — JUNE- 2012

Subject code: 330904 Date: 12/06/2012
Subject Name: Generation & Transmission of Electrical Power
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic
Q.1 Answer the following questions in short. 14
Why are super heaters used in thermal power plants?
What for surge tank is provided in hydro electric power plant?
Name the different types of fuels used in nuclear reactor.
List the desirable properties of insulators used for transmission
lines.
Name the factors affecting the sag.
What is Ferranti Effect?
Write two advantages and limitations of wind power plant.
Q.2 (@) Compare overhead and underground transmission system. 07
(b) Explain water and steam cycle in thermal power station with the 07
help of line diagram.
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(b)  State the functions of the following: 07
a) Condenser. b) Electrostatic precipitator. ¢) Spill way.
d) Penstock. €) Moderator. f) Control rods. g) Air filter.
Q.3 (a) State the functions of voltage regulator. 05
(b) Explain the effect of system voltage and power factor on volume of 05
conductor and efficiency of transmission line.

(c) Give comparison between pin and suspension type insulator. 04
OR
Q.3 (a) State the advantages of static voltage regulator. 05
(b) List the advantages of interconnected system. 05
(c) A 132KkV transmission line has the following data: 04

Weight of conductor=680 Kg./Km., Length of span=260m.,
Ultimate strength=3100 Kg., Safety factor=2. Calculate the height
above ground at which the conductor should be supported. Ground
clearance required is 10m.

Q.4 (a) Write classification of hydro power station. 05

(b) What is load curve and load duration curve? What informations are 05
available from load curves?

() A generating station supplies the following loads: 15000kW, 04
12000kWw, 8500kW, 6000kW & 450kw. The station has maximum
demand of 22,000kW. The annual load factor of the station is 48%.
Calculate: (a) The number of units supplied annually. (b) The
diversity factor. (c) The demand factor.

OR
Q.4 (a) State the advantages and disadvantages of nuclear power station. 05
(b)  Explain the fuel system and cooling system of diesel power station. ~ 05
(c) Define: (a) Demand factor. (b) Load factor. (c) Diversity factor. 04
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(d)capacity factor.
Q.5 (a) Give classification of wind electric system according to machine 05
size and types of output.
(b) State the applications of HVDC system. 05
(c) Enlist different types of HVDC system and explain any one system 04
with block diagram.
OR
Q5 (@) Name the components of MHD system and explain them. 05
(b) State the disadvantages of HVAC transmission and the advantages 05
of HVDC transmission.
(c) Draw the schematic diagram of HVDC transmission system and 04
state the name of equipments used.
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